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> = cm?
> ®EhD 150.72.cm?
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(4x2x3.14) x 6 = 150.72 (cm?)
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T~~-31.4cm- "7
15¢cm
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> Hg. 628cm?

({2 5) =31.4+3.14 + 2 = 5(cm)
(BHol) = (5x5x3.14)x2+31.4x 15
=157 + 471 = 628(cm?)
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2 + 169.56 = 226.08( cm?)
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(B4ol) = (B¥el) x2+ (FHol)

659.4 = 153.86 X 2 + 7 X 2 x 3.14x (&9])

= 307.72 + 43.96x (&)
(%=0°])= 351.68 + 43.96 = 8(cm)
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= 62.8(cm?)
(30°])=62.8 + (4 x 3.14) = 5(cm)
(F1])= (2x 2% 3.14) X 5 = 62.8(cm?)
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1884 = 200.96x (=°I)

(=°1)= 9.375( cm)
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(FH9] 712) = (<l o] <] Ao))

= (299 A7) x3.14
(U] 2]5)=50.24 + 3.14 = 16( cm)
(¥71%59] =0])=50.24 — 16 — 16 = 18.24( cm)




24. o= 22 F Y IR0l AdsUH. (7h) 2R 25 (M) 2=
A gevd, (W) 2% 29 £ole B em 7t HeA] F5HA L.

h ()

6cm

|

=)

COEEEESER)
60

=6x6x314x — x1

X6X%X3 ><360>< 8

1
=6x6x3.14x g X 18 = 339.12( cm?)
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113.04x[_|=339.12

[ ]=3(cm)
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@141.3 cm? @ 125.6cm? ® 109.9 cm?
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oA (FE 9 dH e Hol)
+ (9E ©9 99| Hol)
1 1
= 36x3.14><3’%;j+81 x3.14x%
= 56.52 + 84.78 = 141.3(cm?)




